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Entrance Test for B.Ed. Admission -2017-2019
B.Ed. (Arts Stream)

. (General Instructions)

Full Mark - 150
Time - 2¥2 Hrs.

The Question Bocklet consists of two sections : Section I and Section II. Section I is compulsory

for all. Section I contains 50 questions from General English, Education and General Awareness,
Reasoning and Teaching Aptitude.

1.1 The Section U of the Test Booklet is meant for both Arts and Science stream. The candidates
applying to the B.Ed. course under Arts stream shall answer Section II (Arts) and those
who are applying for Science stream shall have to answer Section II (Science).

1.2 The candidates are required to clearly darken either the ‘Arts’ or ‘Science’ course in the
OMR sheet according to their own application form.

1.3 The serial numbers of questions in Section IT for both Arts and Science have been numbered
from 51 to 150. _

1.4 Section Il consists of 100 questions for both Arts and Science group. The Arts group section
consists of question items on subjects like English, Odia, History and Political Science and

Geography. The Section II under Science stream containing 100 questions from Physical
Science, Bio-Science and Mathematics.

2. The Questions in the Question Booklet are numbered consecutively from serial number 01 to
150 with the mention of two sections only in between.

3. All questions are compulsory.

4. All questions are of Multiple choice. Four possible responses are given for each question out
of which only one option is correct. Choose the correct one and darken the appropriate circle
completely in the corresponding number given in the OMR sheet.

5. Each question carries 01 mark only. For each correct reposnse, 01 mark will be awarded.

6. For every incorrect response, 0.25 mark shall be deducted from the marks secured by the
candidate for correct response.

7. More than one response to a question will be treated as a wrong response.
8. The Full Mark for the test is 150.
9. The duration of the test is 2 hr. 30 minutes.

10. The candidates are required to fill up the parti;ulars in the OMR sheet by using Blue/Black ball
point pen only, use of pencil or any other writing material is not allowed.

11. The candidates are required to check carefully that the test booklet number is printed on cover
page and the test booklet contains such number of pages as mentioned on the cover page.

é 12. In case of any discrepancy, they should immediately report the matter to the invigilator.

! 13. The Candidates are not allowed to leave the examination hall before the answer sheets are
collected and counted by the invigilator.

14. The candidates are required to strictly adhere to rules of examination. Any candidate found
to have resorted to unfair means of misconduct in the examination hall shall be expelled from
the examination hall on the spot and his/her examination shall be cancelled. Criminal
proceedings may be initiated against the c.and‘idates misbehaving with the invigilators and
attempting to disrupt the conduct of examination.

15. Use of any document, textual materials, calculators or any other electronic gadget, log tables,
mobile phones, plain papers are strictly prohibited inside the examination hall.
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SECTION-T

1. Choose the Synonym for the word
‘Cause’.
(a) Reason (b) Principle
(c) Motive (d) Belief

2. Choose the right antonym for the word
‘Hard’.
(a) Harsh (b) Soft
(c) Humble (d) Firm

3. Fill the right conjunctions in the
blanks:
Divya Dimple studied hard —

are not able to pass the examination.

(a) and, but (b) or, but
(c) but, or (d) with, but

4. Choose the correct sentence for the
given one :
Suman said, “What a pleasant
weather !”

(a) Suman exclaimed that the weather
was very pleasant.
(b) Suman declared that the weather
was very pleasant.
(c) Suman wished that the weather
was very pleasant
(d) Suman disapproved that the
weather was very pleasant.
5. Choose the correct modal and fill the

blanks:

You —— attend the class.

(a) may (b) might
(c) must (d) surely

6. Choose the correct adverb for the
following sentence :
She walks —— due to old age.
(a) slowly (b) fastly
(c) very fast (d) slow

7. Choose the similar meaning for the
given word : ‘Progressive’
(@) Technology (b) Advancement
(c) Materialistic (d) Empowerment

Read the following passage and answer the
questions from 8 to 10 :

For many years people believed that the
cleverest animals after man were chimpanzees.
Now, however, there is a proof that dolphins
may be even cleverer than these big apes.
Although a dolphin lives in a sea but it is not
a fish. It is a mammal. It is in many ways,
therefore, like a human being.

Dolphins have a simple language. They
are able to talk to one another. It may be
possible for man to learn how to talk to
dolphins. But this will not be easy because
dolphins cannot hear the kind of sounds man
can make. If man wants to talk to dolphins,
therefore, he will have to make a third language
which both he and dolphins can understand.

Dolphins are also very friendly towards
man. They often follow ships. There are many
stories of dolphins guiding ships through
difficult and dangerous waters.

8. Which animals do people think may be
the cleverest after man for many years?

(a) Chimpanzees (b) Dolphins

(c) Bigapes (d) Mammals

9. What other beings are dolphins like in
many ways?

(a) Fish (b) Animals

(c) Reptiles (d) Human

10. What have scientists discovered about
dolphins?

(a) They understand simple language

(b) They can speak to one another

(c) Men can now talk to them

(d) They can teach men their language

11.  The red blood cells are formed in :
(a) Bone marrow (b) Lymph nodes
(c) Liver (d) Heart

12. Which bacteria is responsible for the
formation of curd?

(a) Bacillus radicicola

(b) Lactobacillus aureus

(c) Lactobacillus acidophillus

(d) Lactic acid bacteria

’
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13. Which day is observed as National 22. Of the following two statements, both
Technology Day? of which cannot be true, but both can
(a) May 11 (b) May 13 also be false. Which are these two
(c) June 11 (d) June 13 statements?

14.

According to Swachh Bharat Survey
which is India’s cleanest city?

(I) All machines make noise.

(a) Surat (b) Indore (II) Some machines are noisy.
(c) Patna (d) Gonda (II1)No machine make noise:
15. ‘;:hkh of the following oceans has the (IV) Some machines are not noisy.
shape of English alphabet ‘S'?
(@) Arctic ocean (b) Indian ocean (a) 1&1I (b) M & IV
(c) Atlantic ocean (d) Pacific ocean (c) &I d H&IV
16. Which article of our Constitution says, 23. Pointing to a woman, William said,
“No child below the age of 14 years shall “Her only sister is the mother of my
be employed to work in any factory or daughter’s mother”. How is the
:i“ez or engaged in any other woman related to William?
azardous employment”? :
(a) Artide iy y“(‘b) Article 24 (a) Sister (b) Mother
(c) Article 45 (d) Article 330 (c) Grandmother (d) Aunt
17. The full form of NAAC is : 24. Count the number of triangles in the
(a) Nasa Auronotics and Assessment given figure
Counail.
(b) National = Assignment and
Assessment Council
(c) National Assessment  and
Accreditation Council
(d) None of these
18. National Education Day was celebrated (@ 9 (b) 8
on the birthday of national leader : (©) 6 ) 7
(a) Sarojini Naidu S ——— | .
(b) J.S.Kriplani . m e given a ternatives sel_ect the
(c) Rajiv Gandhi word which can be f<?rmed using the
(d) Maulana Abul Kalam Azad letters of the given word
19. When was the United Nations MATHEMATICS
Organisation founded? (a) TEAM (b) TEASE
(a) Dec. 10,1945 (b) Oct. 24, 1945 ¢) TAUGHT
(c) Oct. 24, 1944 (d) Dec. 9, 1945 2 ;d)otor 1 (d) None of these
20. The Speaker of Lok Sabha is elected by: ‘ cycle is related to Battery in the
(a) Prime Minister same way a life is related to :
(b) President (@) Earth (b) Sun
(c) Members of both Houses of () Moon d) Star
Parliament o
(d) Members of Lok Sabha 27. :: r;:s?r:c;tt\ w:lks 5 miles to the west,
21. If ‘P’ denotes as '+, ‘Q’ denotes as '+, et and walks 5 miles and turns

‘R’ denotes as '~' and 'S’ denotes as 'x’,
then: 60R15P3S6Q4="7

(a) 30 (b) 34
(c) 94 (d) 150

left and walks 5 Mjles and again tumns

le.ft af\d walks 5 miles. What is the
direction he is facing now?
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28. In acertain language ‘No more tood’ is 35
written as ‘ta ka da’, ‘more than that’
~ 1s written as ‘sa pa ka'. How is ‘that’
P e written in that language?
—(a) sa
(b) ka
(c) ta 36.
(d) data inadequate
Y29, In a certain code, LUTE is written as
MUTE and FATE is written as GATE,
then how will BLUE be written in that 37.
code?
(a) CLUE (b) GLUE
(c) FLUE (d) SLUE
30. If'GO =32, SHE =49, then SOME will —~- -
be equal to : 38,
(a) 56 (b) 58
(c) 62 (d) 64
31. Inorder to join the teaching profession
"2 v |/ what is more important? 39.
(a) Percentage of marks
(b) Teaching aptitude
(c) Your belonging to reserved
category
(d) Belonging to a family of teachers 40.
T 32. If you come to know that a student of
yours has started taking drugs, what
will you do?
Y (a) Report to the principal
(b) Tum him out of the class for a week
(c) Inform his parents
(d) Will ignore his mistakes 41.
33. Which of the following affects an
individual’s development at a given
time?
(a) Their experiences
(b) Interaction of nature and nurture
(c) Inherited potentialities
(d) Social pressure on the individual
34. The best remedy of the student’s
42.

e

problems related with learning is :
(a) Diagnostic teaching

(b) Suggestion for private tutor
(c) Supervised study |

(d) Suggestion for hard work
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Which quality of human being is
necessary to lead a happy life?

(a) Capability of evaluation

(b) Capatility of thought and logic
(c) Capability of thought

(d) Capability of imagination

The ideal teacher :

(a) Teaches the whole curriculum
(b) Helps the students in learning
(c) Maintain good discipline

(d) Is a friend, philosopher and guide
‘Education’ as per the Constitution of
India finds the entry in

(a) Concurrent list

(b) State list

(c) Centre list

~ (d) None of these

Which commission was appointed asa —

result of agitations?
(a) Charter (b) Lord Macaulay

(c) Wood’s (d) Hunter
Maximum classroom problems are due

to :

(a) Faulty curriculum

(b) Less intelligent students

(c) Ineffective teaching

(d) Faulty exarnination system

Which ministry at the centre deals with

education :

(a) Education Ministry

(b) Finance Ministry

(c) Human Resources Development

~ Ministry

(d) All of the above

The most effective method of character

formation is

(a) Teaching virtues through religious
books

(b) Teaching by high character teachers

(c) Organising specialists lectures on
importance of values in life

. (d) Rewarding. virtuous behaviours

and presenting high character
models in the schools.
The intellectual skills are reflected by
(a) Cognitive domain
(b) Psychomotor domain
(c) Affective domain
(d) None of these


https://applink.adda247.com/d/XhqWf9lSap

Adda

= |V

43. Z:e real goal of the education snould
(a) Securing a certificate
(b) Trairung to made a living
(c) Mastery of the subject matter
(d) Acquiring skills, habits and
knowledge
44. “ Life as if you were to die tomorrow.
Learn as if vou were to live for ever”.
Whose quote is this?
(a) Mark Twain (b) Oscar Wilde
(c) Nelson Mandela
(d) Mahatma Gandhi
45. The technique of measurement of the
patterns of social behaviour in a group
is known as :
(a) Sociometry
"""" () Sociogram
(c) Social distance scale
(d) Interactional analysis
46. What is the use of text book in a class?
(a) To achieve teaching-learning
objectives
(b) To delimit what is to be taught
(c) To ease the work of the teacher
(d) To set new standards
47. John Locke’s phrase of ‘Tabula Rasa’
means :
(a) Tal and Ras  (b) Free education
(c) Mind itself is a result of the process
of evolution
(d) All of the above
48. Most important work of teacher is
(a) To maintain discipline
(b) To organise teaching work
effectively
(c) To take care of students
(d) To check the papers of the students
49. If majority of the students in your class
are weak, you should
(a) Not care about bright students

(b) Keep your teaching slow along with

some extra guidance to the bright

students

(c) Keep your teaching slo?v

(d) Keep your speed fast to increase the
comprehensive of the students
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50. The real aim of teaching is
(a) To give knowledge and information
(b) To involve pupils in activities
(¢) To impart knowledge
(d) Desirable change in behaviour

SECTION-II

Directions (Q.No.51-55) Read the following
passage and answer the questions.

Dr. Johnson described sleep as a ‘gentle
tyrant’. ‘Sleep’ is a tyrant because nobody can
escape itsregimen, ‘gentle’ because there is some
flexibility of course, within limits in the
distribution of the hours of sleeping and being
awake we go to sleep way 15 to 10 hours and
sleep for about 8 hours in a 24 hours cycle.

The order limit for keeping sleep at bay
for the -average individualis 72 Rours. An
average individual can’t keep continuously
awake for more than 72 hours. Of course, there
have been exceptional individuals like the
tyrant Napoleon and Arjuna.

‘Sleep” and ‘Education’ are intimate
enemies. Most often they go together, but they
always work against each other. Often
students lose sleep thinks to fear of failing in
the examinations. However, when they sit
down to study sleep overpower them. Is it
possible todevelop and impart education about
sleep? Has anybody successfully done it? What
should be the aims of education vis-a-vis sleep?
What are the best agencies for imparting
educatioh anout sleep and what should be the
curriculum for sleep education? There is an
urgent need for research in this area.

51. Sleep is described as a ‘gentle tyrant’
because :

(a) Nobody can escape sleep

(b) Everybody has to sleep

(c) We need a comfortable environment

for sleeping

(d) There is some flexibility within

limits for the distribution of
sleeping hours.
52.  The longest duration an individual can
remain awake is

(c) 8 hours

(b) 16 hours
(d) 72 hours

—_—
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53.

55.

56.

57.

58.

59.

60.

61.

‘Gentle tyrant’ refers to :
(a) Arjuna (b) Sleep
(c) Napoleon (d) Dr. Johnson
" Slgep’ and ‘Education’ are described as
intimate enemies, because :
(a) They go together
(b) They work against each other
(c) They are together, but work
against each other.
(d) Education can’t conquer sleep
The most suitable title for this passage
would be :
(a) ‘Sleep’ A Gentle Tyrant
(b) -Dr. Johnson’s idea on Sleep
(c) Education for Sleep
1{d) Sleep and Education : Intimate
Enemies
Choose the correct passive form of given
sentence :
I play a match.
(a) A match is played by me
(b) A match was played by I
(c) 1 played a match

(d) A match by played me
Choose the correct form of the given

sentence : | said to the teacher “T am

sorry”.
(a) I told the teacher that I am sorry

(b) I told the teacher that I was sorry
(c) I said to the teacher that I am sorry
(d) I said to the teacher I was sorry
Choose the most suitable prefix for the

word ‘respect’.

(a) un (b) ir

(c) dis (d) in

Which of the following is the suffix of
‘Excite’?

(a) ment (b) ful

(c) able (d) ness

Find the correct spelt word :

(a) Enemyty (b) Enemity
(c) Enmity (d) Enmety

Find the correct spelt word :

(a) Beneficial (b) Benificial
(c) Beneficil . (d) Benefical

62.

63.

64.

65.

66.

67.

68.

69.

70.

e

Choose correct Antonym for the word
‘Active’ :

(a) Adjust (b) Passive

(c) Animated  (d) Agile

Choose the correct meaning of the given
word ‘Commence’ :

(a) Toend (b) To begin

(c) Nearly finish (d) To sun
Choose the correct meaning of the given
word ‘SAGE' :

(a) Wise man (b) Era

(c)- Tropical tree (d) Fool

Fill in the correct form of verb :

The song was — by Henry.

(a) sing (b) sung

(c) bas been sung (d) had sung
Choose the correct form of verb :
Excuse me sir, you — on my coat.

(a) are sitting (b) sit

(c) sat (d) were sitting
Complete the sentence using simple

past tense :
Her mother — last year due to prolong

illness.

(a) was dying (b) wasdied

(c) died (d) had died
Change the given sentence into Present
Perfect Tense :

The children are doing their home

work.
(a) The children have done their home

work
(b) The children was doing their home
work
(c) The children done their home work
(d) The children had done their home

work
Put the correct Preposition i

blank :

I am eager — Se€ you-

(a) to (b) for

(c) with (d) at .
Fill in the correct Preposition in space :

n the

They went to Agra — bus.
(a) of (b) in
(c) by (d) from
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71.

72.

73.

74.

75.

76.

77

78.

(a) 1,2,3,4

Which word is material noun in the
following sentence:

My mother wears gold jewellery

(a) wears (b) jewellery

(c) mother (d) gold

Choose the correct Pronoun for the
following sentence :

When we go to hotel, my mother eats
more than — do.

@) 1 (b) am

(c) you (d) they

Find the correct sequence of sentence :
(P) in the cities and the villages

(Q) The effect _

(R) of the cinema is very bad

(S) on the school and college going

youngsters.
(a) PQRS (b) QRSP
(c) QPSR (d) RQSP

Decide which word is suitable for the
sentence :

I rang Lisa yesterday, she said it —

‘raining there.

(a) is (b) should be

(c) tobe (d) was

Choose the correct formation of the
given sentence :

Any is milk the there fridge in?

(a) Is there any milk in the fridge?
(b) There is any milk in the fridge?
(c) There is milk in the any fridge?
(d) Any milk is there in the fridge?
Of the following the correct
chronological order of the visit of the
following travellers is :

1. Al Beruni 2. Hiuen tsang
3." Fahein 4. Magasthenese
(b) 4,3,2,1

(c) 3,2,4,1 d) 4231

Who wrote Kadambari?

(a) Kalidasa (b) Kautilya

(c) Harsha (d) Banabhatta
Which of the following is the oldest seat
learning? '

(a) Uijjain (b) Nalanda

(c) Vikramshila (d) Taxila

79.

80.

81.

82.

83.

84.

85.

86.

87.

Who built the stupa of Sanchi in
Madhya Pradesh?

(a) Harsha (b) Ashoka

(c) Kanishka (d) Chandragupta
Who was the founder of the Indian
National Congress?

(a) Gopala Krishna Gokhale

(b) Allen Octavian Hume

(c) Feroz Shah Mehata

(d) Bipin Chandra Pal

When did Chauri Chaura incident took
place?

(a) February 5, 1922

(b) February 15, 1922

(c) February 25, 1922

(d) February 5, 1923

Who among the following opposed
Mahatma Gandhi’s association with
Khilafat movement?

(@) Muhammad Ali Jinnah -

(b) Abul Kalam Azad

(c) Fazlul Haaque

{d) Khan Abdul Ghaffar Khan

When did Jallianwala Bagh massacre
took place?

(a) 13" April, 1918 (b) 13* April. 1919
(c) 13* April, 1920 (d) 13* April, 1921
Who led Non-Cooperation Movement?
(a) Sardar Patel

(b) Mahatma Gandhi

(c) Jawahar Lal Nehru
(d) Bal Gangadhar Tilak
Who is the father
Renaissance?

(a) Raja Ram Mohan Roy
(b) David Hare

(c) Ishwar Chandra Vidyasagar

(d) Rabindra Nath Tagore

In which year did First World War start?
(a) 1914 (b) 1918

(c) 1916 (d) 1919

The meaning of B.C. is :

(a) Before Christ

(b) Before Christmas

(c) Before Christian

(d) Before Church

of Indian
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92

93.

94.

95.

World War-1I began when Germany
invaded :

(a) Russia (b) Austria

(c) France (d) Poland

The pioneer of the Socio-Religious
Reform Movement was :

(a) Raja Ram Mohan Roy

(b) Swami Dayanand Saraswathi

(¢) Keshab Chandra Sen

(d) Devendranath Tagore

The French Revolution began in which

year?

(a) 1789 (b) 1798

(c) 1743 (d) 1759

Which one of the following Right of

Indian Constitution guarantees all

fundamental right to every resident of

country?

(a) Right against exploitation

(b) Right to freedom

(c) Right to equality

(d) Right to constitutional remedies

Which one of the following is true with

respect to fundamental rights of Indian

Constitution?

(a) Sovereignty of the people

(b) Equality of opportunity for all
residents

(c) Limited government

(d) Democracy

In which part of Indian Constitution,

Fundamental Rights are provided?

(a) Part-II (b) Part-III

(c) Part-IV (d) Part-V

Which of the following countries

enjoys a federal form of government?

(a) China (b) USA

(c) Cuba (d) Belgium

The most essential feature of the

Parliamentary form of government is
the :

" (a) Sovereignty of the Parliament

(b) Written Constitution

(c) Accountability of the executive to
the legislature

(d) Independent judiciary

96.

97.

98.

99.

100.

101.

In Indian polity which one is Supreme?
(a) The Supreme Court

(b) The Constitution

(c) The Parliament

(d) Religion

Who is popularly known as Chief

Architect of Indian Constitution?

(a) Dr. B.R.Ambedkar

(b) Pt. Jawaharlal Nehru

(c) Dr. Rajendra Prasad

(d) Sardar Patel

Which of the statements given below

is/are correct?

(i) The parliament of India consists of
three parts viz, the President, the
council of states and the house of
the people. _

(ii) The President of India is not a
member of either house of
Parliament.

(iif) The Parliament is the legislative
organ of the Union Government.

(a) (i) only

(b) (i) and (ii) only

(c) (i) and (iii) only

(d) All of these

The value of secularism can be found

in which of the following parts of the

Constitution? '

(i) Preamble

(if) Directive Principles of State Policy

(iii) Fundamental Duties

(iv) Fundamental Rights

(a) (i) and (ii) only

(b) (iii) and (iv) only .

(¢) (i), (iii) and (iv) only

(d) @) (ii), (iii) and (iv)

The current Lok Sabha is the :

(a) 14* Lok Sabha

(b) 15" Lok Sabha

(c) 16*™ Lok Sabha

(d) 17* Lok Sabha 4

A dispute regarding the election of the

President is referred to the :

(a) Election Commission
(b) Parliament

(c) Supreme Court

(d) VicePresident
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102.

103.

104.

105.

106.

108.

109.

110.

111.

The Parliament js begin with :

(a) Question hour

(b) Zero hour

(c) Both (A) and (B)

(d) None of these

Where is Supreme Court of India
situated :

(a) Bombay (b) Delhi

(c) Chandigarh (d) Kolkata

Who appoints the judges of Supreme
Court?

(a) Prime Minister

(b) Chief Justice cf India

(c) Lok Sabha  (d) President

What is the maximum age for holding

the office of judge of a High Court?

(a) 62 (b) 60

(c) 58

(d) Fixed by the President depending
upon the workload

What lies at 90 degrees north latitude?

(a) South pole (b) North pole

(c) Antarctica (d) Madagascar

What is the name of the line of

longitude where the day would change

when you cross it?

(a) Tropic of Cancer

(b) Intermational Date Line

(c) Equator

(d) Prime Meridian

Another name for a line of latitude is :

(a) Equator (b) Meridian

(c) Parallel (d) Prime meridian

The value of Prime Meridian is :

(a) 90° (b) O°

(c) 60° (d) 30°

The frigid zone lies near : :

(a) The poles (b) The equator

(c) The tropic of cancer

(d) None of these

The three R’s to save the environment

are :

(a) reserve, redue, recycle

(b) reuse, reserve, reduce

(c) reserve, reuse, reduce

(d) reduce, reuse, recycle

112

113.

114.

115.

116.

117.

118.

119.

120.

Water pollution can be identified by
testing its :

(a) pHlevel

(b) Biological Oxygen Demand (BOD)
(c) Both (A) and (B) '
(d) None of these

World Environment Day is celebrated
every year on :

(a) 5" June (b) 6% June

(c) 5% July (d) 11* July

The management of Natural Resources
should take into :

(a) A long term perspective

(b) Safe disposal of wastes

(c) Their equitable distribution

(d) All of these _
Chipko Andolan is concerned with : -
(a) Conservation of water

(b) Development of new breeds of forest
plants

J
by

(c) Zoological survey of India
(d) Forest conservation

Which one of the following National
Parks belongs to West Bengal?

(a) Sundarbans (b) Corbett

(c) Manas (d) Bandhavgarh
Which planet is known as Blue Planet?
(a) Earth (b) Mars

(c) Jupiter (d) Neptune

The most important human activity
leading to the extinction of wildlife is .
(a) Pollution of air and water

(b) Hunting valuable wildlife products

(c) Alternation and destruction of the
natural habitats

(d) All of these

Which is the highest peak in India?
(@) Mr. Everest (b) Kanchenjunga
(c) Nanga Parbat (d) Nandadevi
The world’s largest delta is formed by :
(a) Ganga and Sutlej

(b) Indus and Ganga

() Ganga and Brahamputra

(d) Indus and Brahamputra
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121.  Which is the longest day of the year?

(a) 21% June (b) 22 June

(c¢) 23" June (d) 24% June
Which is the smallest state of India?
(a) Goa

(b) Andaman Nicobar

(c) Port Blair

(d) Juri

Which one of the river was known as
‘Sorrow of Bengal’ as it gets flooded
often causing damage?

(a) Damodar (b) Kamodar

(c) Yamuna (d) Jhatta

Which of the following is/are non-
renewable resources?

(a) Coal (b) Petroleum

(c) Natural gas (d) All of these

Balancing the need to use resources and

also conserve them for the future is
called :

(a) Sustainable development
(b) Resource conservation
(c) Resource development

122.

123.

124.

125.

(d) Human resource development
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126. Q6Q4 G0180Q 6060 AREE ?
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(b) 6QIEGY @d Q@R

(c) QERRQ 28 @ Q6R
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671I0R @86 ATRIQ @'€ 60N TR ?
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(c) @86 AT FRIQd

(d) genea gea &
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(a) 6@9Q 2T €A
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(a) °Qg (b) e8gaIgel
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133.

134.

135.

136.

137.

138.
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142.

143.
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SECTION - I
1. (x) 2.(b) 3.(a) 4. (a) 5.() 6. (ad) 7. (b) 8.(a) 9.(d) 10. (b)
11. (a) 12.(cd)13. (@) 14. (b) 15. (¢) 16. (b) 17. (c) 18. (d) 19. (b) 20. (d)
21. (b) 22.(c) 23. (d) 24. (a) 25. (a) 26. (b) 27. (a) 28. (d) 29. (a) 30. (a)
31. (b) 32.(a) 33. (b) 34. (a) 35. (b) 36. (d) 37. (a) 38. (d) 39. () 40. (c)
41. (d) 42.(a) 43. (d) 44. (d) 45. (a) 46. (a) 47. (c) 48. (b) 49. (b) 50. (d)

SECTION - II
51. (d) 52.(d) 53. (b) 54. () 55. (d) 56. () 57. (b) 58. () 59. (a) 60. (c)
61. (a) 62.(b) 63. (b) 64. (a) 65. (b) 66. (a) 67. (c) 68. (a) 69. (a) 70. (c)
71. (d) 72.(a) 73. (b) 74. (d) 75. (a) 76. (b)- 77. (d) 78. (d) 79. (b) 80. (b)
81. (a) 82.(a) 83. (b) 84. (b) 85. (a) 86. (a) 87. (a) 8B. (d) 89. (a) 90. (a)
91. (d) 92.(b) 93. (b) 94. (b) 95. (a) 9. (b) 97. (a) 98. (@ 99.+d) 100. (d)
101. (c) 102. (a) 103. (b) 104. (d) 105. (a)106. (b) 107. (b) 108. (c) 109. (b) 110. (a)
111. (d) 112. (c) 113. (a) 114. (d) 115. (d)116. (a) 117. (a) 118. (d) 119. (b)120. (c)
121. (a) 122. (a) 123. (a) 124. (d) 125. (a) 126. (b) 127. (d) 128. (d) 129. (b) 130. (c)
131. (b)132. (c) 133. (b) 134. (b) 135. (d)136. (b) 137. (c) 138. (c) 139. (d) 140. (c)

141. (b)142.(b)143. (a) 144. (o) 145. (c) 146. (d) 147. (d) 148. (a) 149. (c) 150. (d)

Note : Grace Marks will be awarded to the questions where answer keys are indicated as “x”
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